+s- ROEMHELD

Issue 2-07 E

8 1.7384

RM /NESIE B =y 6L
i A 3 A B

MAEH B K A€ K 77 500bar

3R 10-08

FAEE

TEH)E

BRESIME

EEME

E#M

WL

E:PESY

7L

TITHMMIEE

EEHA

FERED

RM /NE &3R5S BT S BE7E 5% B RS UBRAS T
£, BligE T1E Gt (s A= 451).

FE:AT R REEKE, SIS EAF NG
SRR B IEEREN L. NEEA EHIEE
ETESEHEN(REREM). £EAI4 4
TAEVESRSEZ(WE 4 7).

B TRANHEL > 8] 25mm BY%e 4 36 &5 RE ik
RFEIHE. IURKESRERBERMT
R RIP X AR S HURBI AT S 4.

MR RM PNEGEHSGREL P E 5, BME L R
RN TIRIEA RBIZ 5185 0 0T 382 e, i o T B
EEFZ B AR ERT &S, RKETH
115 2] 18mm(R~F ¢1).

RM /USRS i EL RE A 8B AL W1 /8,2 207
FIRFE A TERR M.

BRERE. BEMETCHEBEBRLHKRIEH
A0.100

NESTIHS %,

VVVVYVYVYVYVYYVYVYYVY

AR

RM /BB HET 2 — MM EEN
BWRHEL,HE 4 R—AXES T, EA
BREAMEM B H TR R

AR TR ATITIR SR e TIE S fars T
B(WE 4 W),

i S B3R THUBR A5 6T 2 18] H I3 & =,
L2 EMNFRE 25mm(IL DIN EN
349).

RM /NBY SR 2 4T B AT 3 BR AL
FF Rk B R R ES S A A B M B8 (T
%6 ).

SEHR
0@
/ (LT

“A

T{EJE H#853 100bar BF, 51
TSRS R GHET S A $E T E <E

@8

7
BlfaxERNITRENNA
P S

4 FhK/\ EHEE 3 MITIERIE
BEREIT
2 fhREFR
2 #hiEEA N
ERFEEFAEEAN
BEMILEFEZFENREES
AN E MBS, PRI TR KT
RRfE R Eg
FRE VITON®Z £
RESERE-20...+150°C

TP

.......g

EEAR

®[C)

g
i

H
]

H

| -

s

http://www.roemheld.com




+s+- ROEMHELD

BAREEA R

RO

[/ [o02]A]

n

7o
= [
[
b2
% O BUEHEIRIRN &R

1 f=0,02° -
e =
9“\{ ra l
Fant 3 S
N R
S SEE & *+0.2 RIS A3 oH7 F0 eH7 B FLAR
i RN R
EETE=HH | —I_ '._l____, E
Ty LTy
O-p—--462
al
1 11,5=0.02 b1 585 T 40 6 B
/ RMHRE AT
" i
o by I
ST
AT EEE L
— R - EEEM
[ d 01 ) =
L J L -
i — ©
] [y
; Fan
o T Snm. G 3
&l | | T M 4 e G
| LT [~
: o $ k=
TH CoT P e
b -='i ("""'I —
| L,
[ /7 [O.02TA b2
b
N Vv
* T i |
) T
g @ |~
1 f=0.02%
a -
1 dr* =
] T _ P
] O L3 O | sm
Tk | g -
A g
o] 1 =
5 O Fan Fa ("\
KN LN
a2 t
&
&
Ra<0,2




++- ROEMHELD

5
51120D [mm] 25 32 40 50
JEEFTO [mm] 16 20 25 32
#H 100barft [kN] 49 8 12.6 19.5
500bark [kN] 24.5 40.2 62.8 98.5
)| 100barft [kN] 2.9 4.9 7.7 11.6
500barkt [kN] 14.5 24.5 38.3 57.9
F10mm{Ti2 TR TEE [cm?] 4.91 8.05 12.56 19.63
Am=E BRE{THE [cm?] 29 49 7.7 11.6
a [mm] 65 75 85 100
at [mm] 64 74 84 99
b [mm] 45 55 63 75
b1 [mm] 44 54 62 74
c [mm] 7 10 10 10
c1 [mm] 18 15 15 15
© [mm] 8H7x8 RE 8H7x8 iR[E 10H7x10 SFRE 12H7x12 SR s
f [mm] 26 26 33 40
f1 [mm] 19.5 24.5 26 30
g [mm] M8x9 M8x9 M10x10 M12x12
h [mm] 32 40 48 57
h1 [mm] 6.5 7.5 7.5 9
i [mm] 24 27 28 34
k [mm] 10 10 11 14
k1 [mm] 24 + 1712 30 + 1742 32 + 1738 37 + 1718
I [mm] 25 25 25 25
12 [mm] 15 18 25 28
m [mm] 11 11 11 13
n [mm] 18 22 24 27
o [mm] 8H7x8 IR [E 10H7x10 SR E 12H7x10 SR E 16H7x13 SR
p G 1/4 G 1/4 G 1/4 G 1/4
r [mm] M8x8 M8x8 M10x10 M12x12
s [mm] 8 10 12 16
t [mm] 25 27.5 315 38
w +0.2 [mm] 9.8 9.8 9.8 10.8
u +0.05 [mm] 1.1 1.1 1.1 1.1
vl TR [mm] 4 5 6 6
V2 3R [E] [mm] 4 45 45 6
z+0.2 [mm] 25 19 22 32
ORIE R~ 7x1.5 7x1.5 7x1.5 8x1.5
OZ! BB S (FKM) 3001-077 3001-077 3001-077 3000-275
WAE R IREUEZER S
78 +1 [mm] 20 25 25 25
B 1 [mm] 104 118 129 143
=82 [ka] 1.6 2.8 4.1 6.4
IR RM3-020-10 RM4-025-10 RM5-025-10 RM6-025-10
742 +1 [mm] 50 50 50 50
B 1 [mm] 134 143 154 168
=2 [ka] 2.2 3.7 5.1 7.8
ne RM3-050-10 RM4-050-10 RM5-050-10 RM6-050-10
78 +1 [mm] 100 100 100 100
B 1 [mm] 184 193 204 218
=82 [ka] 3.8 5.5 7.1 10.8
ne RM3-100-10 RM4-100-10 RM5-100-10 RM6-100-10

SRESEE-20...4150°C
BN E BT X RIMEIRE, I AR DL 56T

B

RMX-XXX-10- ANy B W i

RMX-XXX-11- £ fllA7 — AN i
RMX-XXX-12- £ flA7 =AML s
RMX-XXX-13- A7 A7 — AN BRA I 5%

TREB A OB+ B AR eI (B B & S OBU T 13 )

RMX-XXX-XXB

RMX-XXX-14- H{ME ZRALFF %

RMX-XXX-15- Z g —/MEREE
RMX-XXX-16- Z g Z /ML REEE

RMX-XXX-17- Z£{ME—RALFF X
RMX-XXX-18- Z{ME Z N RALFF X



O R
o> ROEMHELD sz

AR TR AT R~ a
BB TSR (TER) A TURIRH TS ME R, B 52:002
TR BRI R~ 2R LG8 % T 8 O FLAORESE .
THAELERIEE 4 M7l ; ] |
RM3 RM4 RM5 RM6 HZIZ] an
al 64 74 84 9 | @ ;
a2 48 55 61 W s 3 +—— TH—— L
b1 44 54 62 74 = U
b2 28 35 38 45 | \ A m*@
12 15 18 25 28 i 7 I O
t1 5 5 7 7 g@ﬂ LT
t2 11 13 18 22
m1 10.5 13 17 21 ]
m2 18 20 26 33 - —1"-'5“'9"?’;m_,_1 Iﬂ-l
s 8 10 12 16 T L
s1 14 16 18 22 _{@@[ B - N
X 9 11 12 11 Y 7 i
x1 1925 1925 2125 2425 | L ' 2
EE [kq] 0.25 0.44 0.80 1.20 L
B 3538-568 3538-569 3538-570 3538-571
ESHENREME %Bé,ﬁﬂaﬁaéﬁﬂ?e%u&i’eaﬂﬁ%ii_ﬁ? o

@

ool @

— MR
RMX-XXX-11={2F 7
RMX-XXX-15={sf F Z {1

ML
RMX-XXX-12=4sz F 25 M|
RMX-XXX-16=143 F Z 1|

1
=y

— M BRGALFF X AN BRGLIF X
RMX-XXX-13={;f F &M RMX-XXX-14={1F 25 M|
RMX-XXX-17={:L F 2= {1 RMX-XXX-18={:7 F Z= {0




+s- ROEMHELD

Ty FEAN 12 B

HIHEFE(E

RAMEHTE F STEMEHXR

[N]4

5000

4000

2000

2000

1000

500

a

a 10 2 3 4p B0 el FOO 20 90 1da

17#2[mm] _

EERANBESTENERXR

M [Mm]

My Mz [Nm]

400

350

200

250

200

150

100

50

RMe&

A\

RMs

N RMa
\kx\“huhﬁﬁ_____
RM3 ~ =~ T~

400

3z0

aco

250

200

150

100

a0

(]

QO 10 20 20 40 50 &0 7O a0 90 130

Stroke [mim)

e

RMs

(g

RM2

0 10 20 30 40 50 ED YO 80 90 100
Stroke [mim)

BRI R B BT
AN SRBTIR TR 3 2 M (2 ST A N 26, S EAT G TR XM ERBEITIRMKEME
Ko
RIEPHEFHRXNDEMNEHEHE TIRREE

1. N3E Mx ERTmIREXERAE 2RSS ETFHTR, B LHTRES
0.1mm-.

2. 1% My 5 Mz {ERTRHIRR & K7

# 0.1mm.

3. EAMEEHTE F FEEBI FETRY

BFHA

lF

KM E T RAEMALTE 0.1mm By
REEEN. YRRFESELZTREMN
BEZAPANHRNEXRHTRA
. RM /NEUE R R EL7E It B)A PR
f&.

#E:

1. MHERTFESEENFREAT
18 RM /NEY S HR M 8T A HEAR BN
ISEIN-3vige 3 SERE Ykl
FEIEHE(BFERIERE)RE
1%

4. RM /MEGFRIHELAITIE R IG
RBZ W B AEER LT
2 BEMEMEEIMDER. XA
EREHE/BEESE.




LB R KA

22 ROEMHELD i
A4 B AR R
R kAR R _ M8
HE A
REARN AR
&E THEEEESN [mm] 15 |
RETIEIEE [mm] 0...1.2 . | I I
MEEH [%] <5 SwWi3 -
R [%] <15 |
EE [c]  -25...+70 -
ERFERE 3 of
M 7 3 3R [ms] <10 71 3
BB |
FAk(mm 3 #ir) mm] M8 [ !
A kAR e o
e R IR PBTP ] i
RILER [IP] IP 67 !
e S494 3k
S L EM N
i E DC e
54 34 <]> e i_:
FF I8 g 3 )
WHES pnp ~ Bl
e THERE M 24DC e
HE LR mA 200 ~ CEEEEEEE
TemEUb V] 10...30 DC BEREKES
S b % of Ub <15 B 10-30V DC
REIE (A2 B4 (DIN 40050) IP 67
AR Mz 3000 e 25%+90°C
Fo i fr BT BY BB [mA] <8/<1 oyt g < N
ERER M8k
i ERE V] <1.5/-
AR 5 [0 RE(ZE)
B 5t B AR 4 A MEERT(ER)
BE 3829-164 iy UK E PIR,5M
i L 0 pnp npn
S 3829-099 3829-124
PRILFF = M 22
MR #15 @ |
HRAGZE L (DIN 40050) IP 67 !
%45 (VDE 0660%845200) 30x10° 18 —O— —O— 14
L =
FF K241 E 5
INERE [C] -5%+80 @6 - £ E
e BEF 5 2
TR 11 AARA ! . E A
+1 TR A “ ol @ |
EE 1Bk h 7 £ -
EEIBRY ] Y ' .
BAEE@E [mm?] 1 < 8 6T f%\
P& B 18] [ms] <5 (M4 DIN o5 { g
REET i8] [ms] <3 JAREE - J
BAFFRINE [min-1] 200 M16x1,5. " |
BEFELE=E 24V/[2A .
BANFXRE V] 12 |
12VE BN FF L7 [mA] 10 i v
SRR (R ) BAIEIE-10AZ R
Bs 3829-222




